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nswer any FIVE full questions, choosii ;

: Marks , L: Bloom’s level , C: Cmﬂ ‘e outcomes.

M| L C
Q.1 |a. 10 | L2 | CO1
b. 10 | L2 | CO1
Q.2 | a. | What is enumeration? Explam Value( ) and ValueOf( ) methods withan | 10 | L2 | CO1
examples.
b. | What are annotations? Explam the four annotations Wxth examples. 10 | L2 | CO1
g s Module-2 &
Q.3 |a. | List and explain 'e different types of nﬁiﬁthods defined in collection | 10 | L2 | CO1
interfaces. R
b. 10 | L2 | CO1
Q4 |a. 10 | L2 | CO1
b. | Explain : (i) Iterator (11) Llst Iterator 10| L2 | CO1
Module 3
Q.5 |a. 10| L2 | CO2
b. 10 | L3 | CO2
Q.6 | a. | Explain the followmg methods with examples: 10| L2 | CO2
(i) toString( ) . (ii) charAt( ) = “(iii) getChars( )
b. | Explain string comparlson function: with examples: 10 | L3 | CO2
(1) reglonMatghes( ¥t starsthth( ) and endsWIt (,v)
. Module - 4
Q.7 | a. | Define S@rvlet Explain Servlet Life Cycle. ¢ 10 | L2 | CO3
. | List out the difference between GET and POS’I‘ Request 05| L2 | CO3
c. Eggglam advantages of JSP over Servlet. [ 05| L2 | CO3
gy, G OR 55
Q.8 |a Wlth an example, é&plam the various-tags available in JSP. 10 | L2 | CO3
b. | Explain w1th example JSP directives. 10 | L2 | CO3
Q.9 | a. | Explain the steps in JDBC process 10| L2 | CO3
b. | Explain scrollable and non-scrollable Resultset. f 10 | L2 | CO3
L 37 OR CMRIT LIBRARY
Q.10 | a. | Explain four JDBC Driver types. BANGALORE - 560 037 10 | L2 | CO3
b. | List the different steps involved in associating the JDBC/ODBC bridge | 10 | L2 | CO3
with the data base.
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